Time-Domain Analysis: Discrete-Time Systems
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Convolution Sums

TABLE 9.1:
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Note that

7= (3= sl
Therefore

o8 = 025 ¢ (-0l + 4025 (08 o

We use Pair 4 (Table 8.1} to fnd the above convolution sums;
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= 50505 - 109 4 108 ol

Recognizing that

We can express yk] as

ol =[-L28025)" + 044402 + 58108

=[-1.26(4)*+0.444(~o.2)k+531(o.81*] ulf (055)

A Exercise £9.7
Show that (08)"* ]} = 41 - 08(08) 1l
Usecomoluion tabe, Recogaie that (08)+*! = 08(08)%

& Exercise 9.8
Show that K3l + 02/l = B0 - 1- dhs-Hlh
Hint: - Use convolution tabl. Recognze that 3"‘=(%)" v

4 Exercise 9.9
Using conoluion teble, show that ¢~Fu]f] 2~k = sl - St
Hint: ¢~ = (Dr g 274 = 05 g

() Computer Example 9.4
Find and sketch the zero-state response for the system described by

(E" 684 Syl = (28° + )

for the nput £ = "4t

k=0:11;

b=[2 6 0]

a=(169);

f=4."(k):

y=filter(ba,f);

stem(k,y)

label('k')ylabel (y[k; ()



